H & 0l & AHS B Ml A

FA 202t
Ha: HAS 2
el JhRe EAEE 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SZ0Ist 18,214,021 18,486,326 A272,305
= 800
Al 58,800
- 18,154,421
FAagd 2el 9,820,544 10,248,324 A427,780
JREE SAIEE 24 9,334,054 9,707,066 A373,012
;Hg =Hed =d 53,840 47,940 5,900
201 et23| 29,380 23,400 5,980
01 AtR2t2|HI 22,820 15,640 7,180
Odgt+=H| 21,380
ogatgdd 29
500,000& * 12902 6,000
ogaadHe ol Ext
20,0002 #3CH =122 720
Ooggeddy SIIEBEI] St
40,0002 x1CH* 122 480
OsBERA a7 7Y 5,300
U= 9,000 x32& *1J4* 122 3,456
o=l = 3,500 +32+ 1« 123 1,344
@7 40,0002 *10CH 400
@==~cll ORZ2EXIH 10,0002 *10CH 100
(O 1,000,000 «6H 6,000
OBERA HEE JUE 4+ 7 2,880
@500m| 4 == 5003 *32& 200 2,880
Oty FABHIAAY AISE
120,000~ 128 1,440
02 s3=gHl 6,560 7,760 21,200
OZ332= & HMAl 4,360
Og e Y L TV ald=
40,000 * 122 480
OogF3HH TADIA 2=
220,000 x 122 2,640
OL-BAIBEAD| Eata MIIL3
20,000 * 1 A+ 123 240
Ogx = iy SHIBI(MKYDIIS EotHa
) 1,000,000 1,000
OAlE2 &= X 2,200
OsZE2N sHZZ 08 22l
100,000 »12& 1,200
O AIEEHISAI]
1,000,000 1,000
202 04l 1,210 1,210
01 =LHOHI 1,210 1,210
O&=2l0tl 1,210,000& 1,210
203 =4l 1,250 1,330 A80




FA: 2302t
Ha: HAS 2
&2l JHRE TAIEE =F (EEEE))
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
03 A=A 2 FAIH| 1,250 1,330 280
OFLAIHZ=Z 1,250,000 1,250
307 212t01™ 22,000 22,000
05 DI2t9IEt2 22,000 22,000
OS2 HLAD U 442
22,000,000& 22,000
MEHIIS =262 FEE A = 9,070,762 8,783,252 287,510
201 ZEeH2& ] 29,210 19,810 9,400
01 AtR2telbl 25,850 16,450 9,400
Ot~ 20,000
Ol B HE £42
20,000,000 20,000
On=HI(2HH) 1,650
oxg= 60,0003 » 11 *22] 1,320
(GRS 30,0002 11 330
OZZ22H =2AM U2 2,200,000 2,200
OdEHDIIZ =H2H E2= MH
2,000,000 2,000
02 E32g4l 3,360 3,360 0
OUEHDI2 ZEHHSAAE AIES
280,000 128 3,360
207 AN 32,000 52,000 /20,000
01 1= 32,000 52,000 220,000
OMEHIIZ =& - 2E (HAYH EItEH
Bl 12,000,000 12,000
OMETIIS 4+ - 24 D2 2} &
& 894l 20,000,000 20,000
307 212t01& 8,211,872 7,964,162 247,710
05 BIZt2?(&r = 8,211,872 7,964,162 247,710
OdEmHIIZ S & - 28 Hd+=2 8,211,872
oggtMgD| =8 - 2L (de=
3,822,110,000& 3,822,110
O3Z=d 23 a Y=
470,474,000& 470,474
OUEmIIZ =8 - 2L Hdr=2
421,472,000 421,472
OSAMEHEHIIZ =8 - 28 W=
465,683,000 465,683
oNMEs =& - 28 W2
3,032,133,000& 3,032,133
308 AHXIHMSO0IA 797,680 747,280 50,400
07 X2 EE2 547,680 497,280 50,400
OHEHIIZ MHY - AAE CHa2 547,680
OSENSE =g
16,800& %1,950=+12& 393,120




of
i’
oF
uJ

70
K
R

o ol

i 70

=R

(e}
EIE SIEIE 3
Al gl e i R N
KIo 4
E
=]
g g8|8 SEIE 3
= C|2e 33|35 S
WH3r al QI 0| | <
il
RIS
3 8 88 glale «
= 8 SE88SSIRIRIRESB3I888888 8 § 88838|8|8188 88885 8§
(4 D B3gg8g|glglgy ey~ — o - g o - o W ININ|o o - = 5 < < =
3 -
<
S
ol o N " = iof ol oF 0H S o o o]
cov Y g8 e ¢ 285 5 5 F 55 cE fg
¢ < 25 5 #d@s < 8 & S T @ oo ¥
w1 g § § 5 IS5 § 558 8288 &S &g £ &g
I g g s¥ I <Sg8 SBgig 2 =g g
; g 8 g o o S8 8 B = a8 5 w8 SIS
N ) ) - WO MN . - ﬂ_| 0
M 28%% © = al W M0 X0 _
TR DL " X B 3 z
L R Xl g a M_H
N TR T o 5o 5w O
~» u % T R g ~ mo o o
= |lm T o o o @ W< _=2 4 I o =
@ I 2 = o0 ©0 ©0 = 5 oo o ¢ @ = w oo = RN
Bl = ° I oF o S 4 WA= I S-S = W = Wy
F |, W oW W oW R aaMy ® kR R mlE R T
oy 2 8 pnEEW siszduumumpmoa o Y O Fzplisisay ®gdFpDM
. =X K = W KR _lmlg o RS 5 RIS R A B R R R R m e =053 0 <4 @ 3 Mo ol -
g |0 0z B orwagBlamanIancdnndd 4 g dwwEeEes 226z
20 =l el 70 (O Hiemeernmm »n 3 MKt oHHR S S
10 © 6 S =0o0plam Ko © O 58 ® H moo|nHtad BHAESE
T = R|s s O O === O O
| REESIES 8
I+ R0 i
K




of
i’
oF
uJ

70
Kd
_ R0

o ol

i 70

=R

-

KIO

Hlw

YANG 0%
N1,062
A1,062

2,460

A100

2,560

MEE
Ofl &k2h

61,866
35,046
35,046
24,820
16,300

8,520

Ofl &F2H

1,100
61,264
33,984
33,984
30,464

9,600

3,200

3,200

1,280

1,600

576
640
640
160
640
3,520
640
1,280
640
27,280

4,608

3,840

16,200

3,200

13,000

11,080

4,480

3,200

1,280
5,600

5,000
400

- SRA(E) - HIRAY

- ESS

S - B

|
|
100,000& +32H
|

50,0003 32

18,000 *32H

=l
=l
=1

1,100,000

20,0003 +32&
20,0002 »32&

2,500 x32E *2H
15,000 *32H

2,0003 %3210 +62
20,0002 +32&
15,000& *32H

15,0002 «32Y
20,0002 +32&
40,0003 32
20,000& +32H

150,000 32 #2
50,0003 x32& 2
20,0003 32 +2

68,0003 32«20« 122

3

S CH

)]
E
=1

tO}
A3

S

O0¢

gt
©
odlele

01 AFS2t2ltl

ol
3
7D
0J
_H|f|
KF

K
Rr
[0

Y
o

3

50,0003 32 +2

ol
fal

R
g

Kr

H0
R0
o

13,000, 0002

s

14 J|Et

KM

[0
R0
!
Hio

10

40,0003 32

=l

50,0003 32 +2

Ao

0

(00022

no

200

3

200,000& 1




FA 202t
Ha: HAS 2
el JhRe EAEE 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
|| Omsiza s 1,000,000 1,000
daM)] SEM 3F 486,490 541,258 N\B4, 768
SEHSE =32 2l 486,490 541,258 N\B4, 768
201 er23y| 710 710 0
02 S3=gl 710 710 0
OGB HIZZ= AOIE =Xl E==H|
710,000& 710
206 M=l 374,670 374,526 144
01 MHZHI 374,670 374,526 144
OSEH=E A 306,838
©5¢ 33& 200, 0000 6,600
©104 413 %1,420,0000H 58,220
©20 4 582 +2,523,0000H 146,334
©50 ¢ 1243 %450,0000HK 55,800
Q75¢ 1693 %236, 0000HK 30,884
OSENSE S=F7dLtal 2= Q|
82 +4,879,0000K 39,032
OSgN=sE sHNA & 3,000,000& 3,000
OS=n2a SEH S5 MH 25,800
©30¢ 480 *20,0000H 9,600
©50 4 540& 30, 0000H 16,200
309 HES 111,110 166,022 NB4,912
01 SAL- SHIYHES 111,110 166,022 AB4,912
O AZARBHEES(ZSHMSES=UEY) 111,110
¥ 2eldl 80,343,000 80,343
oztg2eld| 30,767,000 30,767
HOIZ KH&Ast 4,868,373 5,080,006 A211,633
= 800
Al 58,800
- 4,808,773
Mg == & NEHES 508,443 641,934 133,491
= 800
Al 58,800
T 448,843
He2Z 2cl+=H 2 402,662 474,075 AT1,413
Al 20,000
- 382,662
101 @124H| 25,692 50,374 N24,682
MU IIRINZZENSES 25,692 50,374 N24,682
ongs g2 =<0l 25,692
oJlzs 81,6602 x1H*167L 13,638
ORsmL=+E 81,6603 1 »78& 6.370




FA 202t
3 HDI2 Nes
Hel: HaE 2cl=H & HHES (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=RUH(nSHl, S4Hl)
10,0002 x 1 * 167 1,670
Ouxt=& 81,6602 x1H+8& 64
OJE=E 120,0002 1 +83 960
O4HES 300,000 »1H+8& 2,400
201 er23 | 9,160 9,160
01 At2teltl 4,360 4,360
ER=lest sl 3,360
oNgEs 82= X 3,000
OHIERY S22 1002 %10,0000H 1,000
@==HHEF AR 100& %20, 0000H 2,000
ONEES 2cl=HE SN0 2 360
@100%140 18,0002 »200H 360
OoNgsZTEdH 24| 1,000,000& 1,000
02 s3=gHl 4,800 4,800 0
OZ332= 2 HMAl 4,800
ONESESEUH 532= 4,800
0NIIRS 300,000 * 122 3,600
0ol 23 100,000& * 122 1,200
202 04| 810 810
01 2LHA b 810 810
OZ2|0dl 810,000& 810
203 g4l 750 810 260
03 A=A R =] 750 810 260
QAL 750,000 750
206 MH=Hl 40,000 40,000 0
Al 20,000
- 20,000
01 M=4l 40,000 40,000 0
Ot==8 Was8s =H 1= 78
40,000,000& 40,000
Al 20,000
- 20,000
307 glztol & 326,250 360,921 A24,671
05 2ItRIE =2 326,250 350,921 N24,671
OoNgEss dE A5
326,250,000 326,250
AN S 94,981 167,859 NT2,878
= 800
Al 38,800
- 55,381
101 @124H| 13,301 12,679 622
MU ORINZENSES 13,301 12,679 622




SN &20/3H0
M HolE AHAst
o WEE 2l 2 NENES EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHAEIIN - HEZS +125 2l21y| 13,301
oJlz= 81,6602 x2& »42& 6,860
OX+2(RSFY)
81,6603 x2& »22! 3,594
O=RUHI(nSHl, S4Hl)
10,0003 x2E ~42& 840
OHEg 120,000& =2 »23 480
Ouxt=& 81,6603 x2H*2& 327
O4AESE J|2F5=s S
300,000 x2H 2 1,200
201 er23 | 25,180 104,480 AT79,300
Al 11,000
- 14,180
01 At2teltl 24,700 104,000 AT79,300
OM&g =el=Hg Mz 22,000
OHEZS, HEX, HIIE =HE A
22,000,000& 22,000
Al 11,000
- 11,000
OHgZs, HAX 2& 4Xt XAHX Stz
2 244 2,700
oHgZs 110,000& * 122 1,320
OH&EX 110,000& +62 660
oHgZs 25 2L HIS
60,0002 «12& 720
02 S5=2g4l 480 480 0
OHIIEME = OS2z
40,0002 *1CH* 12 480
301 EtE NS 56,500 50,700 5,800
= 800
Al 27,800
- 27,900
14 IIEt2 83 56,500 50,700 5,800
OH&EX +=H &= 1,000& 22,000 22,000
Al 11,000
- 11,000
O&01® =) Hd= 500 *60,000H 30,000
Al 15,000
- 15,000
OelEJ| dla2d=s 100,000 100
Os%eld = ddds 502 +8,000H 400
Al 200
- 200
OgsHble =& &d= 4,000




FA 202t
3 HDI2 Nes
Cel: W8 2cl=H & NHAHES (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHHIE +=H 10021%40,000kg 4,000
= 800
Al 1,600
- 1,600
HeE suotg 10,800 10,800
201 er23 | 10,800 10,800
01 At2teltl 10,800 10,800
OelEXs NEEss =H1)| 2cl2at|
300, 0002 «3CH*12& 10,800
SAEF HoI= N e 4,359,930 4,438,072 NNT8,142
SHEFHIIZ 2cliE & = 4,359,930 4,438,072 NT8,142
201 etz 3| 93,675 82,152 11,523
01 At 2|l 2,550 3,080 A500
OSA=R Hol2 822 A 1,990
OSAlEF W2 N&E 8822
100&*5,0000H 500
OSA=F HII= tHERE 2AU=2
100& *5,0000H 500
ON2+=g 0R XA 7
60,0003 42+ A 240
QLN &8 FSF 7Y
250,000 x32+ A 750
OSA=F W= LdANE g 2
AR =& 70,0002 «8H *13] 560
02 S3=gHl 91,125 79,102 12,023
OSSFH =8 FHIINAM RVBR=
4303 *65000 A+ 123 3,3%4
OZBSFH SA2 s=HECIAMAE |2+
af 189,000& « 12& 2,268
O8A2%F HII2 SEII(RFID) AIEEHIR
] 85,503
(©F=Flls] 3,300 »258=| & x 123 10,217
OR X 2==H| 17,2003 %3370« 12& 69,557
OXM=uwEH| 17,0002 +337CH*13] 5,729
206 M=l 35,100 35,100
01 MZH| 35,100 35,100
OSAER WIS ERES A
30&x1,170,0000K 35,100
301 EtE NS 6,300 6,300
14 0Bt 2a s 6,300 6,300
OSAEF HII=2 2dAM 20tIE Al
= 6,300,000 *12] 6,300
307 elztol & 4,190,855 4,214,520 N23,665
05 2IMRIE S 4,190,8% 4,214,520 N\23,665




FA 202t
Z3: W2 Nes
Rl SAEF WIS AEg EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSA2% HII2 =8 29 H#++8
2,768,718,64& 2,768,719
OSAE2F HIIZ Xl 1,422,136
OS3HeIAIE BH(SBK, 24012, A2t
) 86,9153 1,334+ 128 1,391,336
OuZtMCIAlIE B
220,000 20 E+7L 30,800
401 AIEHIX SO 34,000 70,000 /36,000
01 AlZH| 34,000 70,000 /36,000
OSAE2F HII2 SII(RFID) 72 &R
2,000,000 = 17CH 34,000
HolE fESI12e] 129,310 120,785 8,525
SSH Hyls2d 129,310 120,785 8,525
Ml SEHEI| 22 129,310 120,785 8,525
101 @124H| 16,584 12,679 3,905
MU IIRIMZENSES 16,584 12,679 3,905
OsgSII X0 e@xel X2 16,584
oJlzs 71,4603 x2& 60! 8,576
ON=g(F3%4)
71,4603 »2& 30 4,288
O=RUH(nSHl, S4Hl)
10,0003 x2E~60 1,200
(OF) =S 120,000 x2& x32 720
O4AESE J|2F5=s S
300,000 x2H+32 1,800
201 el 107,166 102,486 4,680
01 At22t2lt] 62,240 56,360 5,880
Odgt=3=H| 17,440
OxgE sxRAgdE S8SI| AHUHEM
= 3,000,000 3,000
OHIEHHE 2= M 2,000,000 2,000
OttEtiE & FHSI| =X =2 M
60,0002 *2IH =129 2 1,440
O=¥SJ| WEHJI= Mel
1,000,000 *32] 3,000
OZAlIPtlIet #=2| |XIH
100,000 +20CH 2,000
ORHSIISX CHUT HIZ
500,000& * 1290 = 6,000
OSZE0H A A 5002 +26,000% 13,000
Ogxz 31,800
O=HigHI|= &el =24/ EX=2
600,000 *1CH*12] 600
OEYSI| ZAIIHH2 YX=
130,000 *20CH* 122 31,200
2 s5=34l 44,926 46,126 1,200




FA 202t
B EDig 2us)|Ee
el =80 Hol=2d (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=32= & HAl 34,100
OZAL At 2ldAIEE & 28 WP
N Xtz 80,0002 «20CH* 12& 19,200
OSHESIl 5 0IsSd 2=
60,000 x2CH* 122 1,440
OZNIHE ZAIIHNCH MRS
5,000 %133| &+ 123 780
OZNMIHIE AN BlHAIER
75,0002 *132| 6123 11,700
Ost=XLME SNl (Z A3t
7,000 = 140CH 980
OAlZ &I Xl 10,826
OSYEI| ZAIDt0IEH Ol &I
400,000 = 10CH 4,000
OSE2ME ZAIPtHcH RXI2==H]
113,757,000 6% 6.826
202 04| 810 810
01 =LHO LI 810 810
o220l 810,000 810
203 HR=H| 750 810 260
03 A= L2 FAIH| 750 810 260
OFLAIHFA 750,000 750
301 EetE2 NS 4,000 4,000
14 JIEt2as 4,000 4,000
OHPIE SgSI MRS
4,000,000 4,000
AH 2 ZHI 3,357,394 3,000,731 366,663
ol 2| (&20I5t) 3,256,102 2,915,783 340,319
el =gl 3,256,102 2,915,783 340,319
101 @124H| 2,539,983 2,400,447 130,536
01 2 163,263 58,461 104,802
Oxn=22=+E(HY) 63,157
OAIZtRAZ 25
12,5313 %x35A1 2Hx 128« 123 63,157
Ox=2R+E(28Y) 100,106
OAIZRZR5E
11,3192 +67 Al 2+ 118123 100, 106
03 SR (RIH )22+ 2,376,720 2,350,986 25,734
OstBEsRHES 2,271,920
OPJ== 2,360,750 x32E « 12 906,528
oJ|lg+g 2,840, 7502 x32E +200% 181,808
odz2+< 2,840,750 x32H *100% 90,904
OXNIE | 2,840, 7502 +32H +300% 272,712
otel&sH| 50,0002 x32& «12& 19,200
oxd2F+g 51,239




£A: SZ0|3t
ZE: wES A
CHel: QI 2AH|(2Z&0I3t) (S &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
0222, THY S 4E224Y
247 529 x69 ! x3H 51,239
OAZ2RIZ22+H 261,390
OANZLRAZ RS
30,9413 x8H *BA| 2+*52L 102,972
ONHoH S HIAZESH
30, A1 *x2H*BA| 2tx20 158,418
(@)SPNR=i== ==
247 520 x32H x 15! 118,814
(OFAE=Eat=, 300,000& x 1~ 12& 3,600
(@FSELES=, 138,240
@IIEE 69,120
=N 40,0003 *32H * 12& 15,360
NE 100,000 xR x 128 38,400
-JIEMIE 20,0003 *32Y x2H x 128 15,360
OEAUR2LE 90,000 x32H x 12& 34,560
[ ESgeaPSE-Easy 90,0003 x32H x 12& 34,560
O=c|I=M| 227,485
Q@ UZAH| 160,000 xR x 128 61,440
[ RSkl
2,840, 7503 *32H #23| *60% 109,085
@G AHIF I 100,000& *32H 3,200
[ Il 140,000 xR x 128 53,760
OstEds28 e
80,000,000 *x1H4 80,000
OAHHEH R ?I2H & YOLAF et X |
4,800, 0002 *50%*3H x3& 21,600
O24X=H| 100, 000& *32H 3,200
34 A= EE2S 716,119 506,336 209,783
M4 22F(RI|H) 22X B82S 716,119 506,336 209,783
[@E=3k=0 2,271,920,0002/%1.75% 39,759
O&INQAEE =
2,271,920,000& 3. 545%*12.81% 10,318
Odd M2 A28 &
2,271,920,000& *1.024% 23,265
O=0AZEE= 2,271,920,000&! *4 . 5% 102,237
O=R0AHAEE = 2,271,920,000&! *3.545% 80,540
O=tE 222 §A&Z2 130,000, 000& =2H 260,000
OE&Z2 ZS2HE A= 100,000,000 *x2H 200,000
[2ZHI(2Z0]181) 101,292 84,948 16,344
J|12&hl 101,292 84,948 16,344
201 LBt AH| 39,912 33, 168 6,744
01 AtR2t2lb| 39,912 33,168 6,744
OJ|2AH22tel ] 21,0003 x24H » 12& 6,048




FA 202t
Zu: #ES A
Sl J1=2dI(2&3 013 (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=gl 31,104
O3 S23AHI
8, 0002+ 13244841+ 122 9,984
oA A
8,0002 x11&H*204!x 122 21,120
ogxz 2,760
OSAPI itz 230,000 «1CH*12& 2,760
202 04dl 57,600 48,000 9,600
01 2L AL 57,600 48,000 9,600
O2U 048l 20,0002 x 132 *102* 122 31,200
ORLHOIHI (2HR)
10,0003 x 11 #2002« 12& 26,400
203 HR=H] 3,780 3,780
M EA2ER=A 3,780 3,780
O21EA4(25H0I5H 350,000 122 *90% 3,780
Wees(820lst) 38,400 36,480 1,920
LIS HHXIE 38,400 36,480 1,920
FAUHESEH dES 38,400 36,480 1,920
701 JIEHRIHSEES 38,400 36,480 1,920
01 JIERI AN ES 38,400 36,480 1,920
O=XYEE2 &2
160,000& x20CH 12 38,400




